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B.Com. DEGREE EXAMINATION —  

JUNE 2012. 

First Year 

Bank Management 

PRINCIPLES OF ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Write any four differences between receipts and 
payments account and income and expenditure 
account. 

 ö£ÖuÀ – ö\¾zxuÀ PnUQØS® Á¸Áõ´  
ö\»ÂÚU PnUQØS® EÒÍ H÷uÝ® |õßS 
Âzv¯õ\[PøÍ GÊxP. 

2. Find the capital at the beginning of the year  

 Rs. 

Capital at the end of the year  70,000 

Drawings during the year  10,000 

Capital introduced during the year  5,000 

Profit for the year  20,000 

 UG–319 BBM–11 
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 öuõhUP •uÀ öuõøPø¯ Psk¤i : 

 ¹. 

Bsk CÖv°À •uÀ  70,000 

|h¨¦ BsiÀ Gk¨¦  10,000 

|h¨¦ BsiÀ TkuÀ •uÀ  5,000 

|h¨¦ Bsiß C»õ£® 20,000 

3. What are the causes of depreciation? 

 ÷u´©õÚzvØPõÚ Põµn[PÒ ¯õøÁ? 

4. What are known as normal losses in consignment 

account? 

 AÝ¨¥miÀ C¯À¦ CÇ¨¦PÒ Gß£øÁ ¯õøÁ? 

5. State how the following expenses are allocated 

among different departments. 

 (a) Rent and taxes  

 (b) Carriage inward 

 (c) Bad - debts. 

 xøÓÁõ› PnUSPÎÀ RÌUPsh ö\»ÄPÒ GÆÁõÖ 
JxURk ö\´¯¨£kQÓx? 

 (A) ÁõhøP²® ©ØÖ® Á›²® 

 (B) EÒyUS T¼ 

 (C) ÁµõUPhß. 
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SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. From the following information, prepare trading 

and profit and loss a/c for the year ending 

31.3.2008 and a balance sheet as on that date. 

Trial balance as on 31.3.08 

Debits  Rs. Credits Rs.  

Salaries  55,000 Creditors  95,000 

Rent  13,000 Sales  3,20,000 

Cash   10,000 Capital  3,00,000 

Debtors  4,00,000 Loans  1,00,000 

Trade expenses  6,000   

Purchases  2,50,000   

Advances  25,000   

Bank  56,000   

 8,15,000  8,15,000 

 Adjustments : 

 (a) The closing stock amounted to Rs. 90,000 

 (b) One month’s salary is out standing 

 (c) One month’s rent has been paid in advance 

 (d) Provide 5% for doubtful debts. 
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 RÌPsh uPÁÀPÎ¼¸¢x 31.3.2008À •iÁøh²® 

BsiØPõÚ CÖv PnUSPøÍ u¯õ›UPÄ®. (C»õ£ 

|mh PnUS ©ØÖ® CÖv {ø» SÔ¨¦) 

C¸¨¦ ÷\õuøÚ £mi¯À  

£ØÖPÒ  ¹.  ÁµÄPÒ  ¹. 

Fv¯®  55,000 Phß D¢÷uõº  95,000 

ÁõhøP  13,000 ÂØ£øÚ  3,20,000 

öµõUP®  10,000 •uÀ  3,00,000 

PhÚõÎPÒ  4,00,000 Phß  1,00,000 

Â¯õ£õµa ö\»ÄPÒ 6,000   

öPõÒ•uÀ  2,50,000   

•ß£n®  25,000   

Á[Q  56,000   

 8,15,000  8,15,000 

 \›Pmh¨£h ÷Ási¯øÁ : 

 (A) CÖv \µUS ¹. 90,000 

 (B) J¸ ©õu Fv¯® {¾øÁ°À EÒÍx 

 (C) J¸ ©õu ÁõhøP •ßTmi ö\¾zu¨£mkÒÍx  

 (D) I¯UPhß Põ¨¥miØS 5% JxURk ö\´¯Ä®.  
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7. From the following receipts and payments 

account, prepare income and expenditure account 

for the year ending 31.3.2010 of Vijay club. 

Receipts and Payments a/c  

Receipts  Rs.  Payments  Rs. 

To Balance b/d  60,000 By Furniture  40,000 

’’    Entrance fees   4,000 ’’    Buildings  3,60,000 

’’    Subscriptions  4,60,000 ’’    Rent  10,000 

’’    Interest received 26,000 ’’    Electricity  48,000 

’’    Sundry receipts  6,000 ’’   Ground upkeep  48,000 

’’    Receipts from  64,000 ’’    Municipal taxes 5,600 

      annual dinner   ’’    Cost of dinner  50,000 

      party  ’’    Insurance  14,400 

  ’’    Printing  4,000 

  ’’    Bal c/d  40,000 

 6,20,000  6,20,000 

 Additional information : 

 (a) Subscriptions include Rs. 12,000 due for  

2008-09 and Rs. 14,000 advance subscription 

for 2010-11. Subscription for 2009–10 due 

was Rs. 16,000 

 (b) Interest accrued was Rs. 2,000 

 (c) Insurance prepaid was Rs. 3,000 

 (d) Printing dues not paid Rs. 1,000 

 (e) Depreciate furniture by 10%. 
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 RÌUPsh ö£ÖuÀ ©ØÖ® ö\¾zxuÀ  PnUQ¼¸¢x 
Á¸Áõ´ ©ØÖ® ö\»Ä PnUøP 31.3.2010 
•iÁøh²® BskUPõP u¯õ›UPÄ®. 

ö£ÖuÀ ©ØÖ® ö\¾zxuÀ P/S 
ö£ÖuÀPÒ  ¹.  ö\¾zxuÀPÒ  ¹. 

C¸¨¦ Q/öPõ 60,000 AøÓP»ß  40,000 

~øÇÄ Pmhn®  4,000 Pmih®  3,60,000 

\¢uõ  4,60,000 ÁõhøP  10,000 

ö£ØÓ Ámi  26,000 ªß\õµ®  48,000 

]À»øµ   ø©uõÚ® £µõ©›¨¦ 48,000 

  Á¸©õÚ[PÒ 6,000 |Pµõm]  5,600 

Á¸hõ¢vµ Â¸¢x  Â¸¢x ö\»Ä  50,000 

  Pmhn Á`À 64,000 Põ¨¥k  14,400 

  Aa_  4,000 

  C¸¨¦ Q/C 40,000 

 6,20,000  6,20,000 

 TkuÀ uPÁÀPÒ : 

 (A) ö£ØÓ \¢uõ öuõøP°À 2008–09 BsiØPõÚ 
{¾øÁ ¹. 12,000 ÁµÄ øÁUP¨£mkÒÍx. 
2010&11 BsiØPõÚ \¢øu •ß Tmi¨ 
ö£ØÓx ¹. 14,000 ÷\º¢xÒÍx. |h¨¦ 
BsiØPõÚ \¢uõ {¾øÁ öuõøP ¹. 16,000 

 (B) ö£Ó¨£h ÷Ási¯ Ámi öuõøP ¹. 2,000 

 (C) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 3,000 

 (D) Aa_ T¼ {¾øÁ uµ £hÂÀø» ¹. 1,000 

 (E) AøÓP»ß «x 10% ÷u´©õÚ® PnUQkP. 
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8. A fire occurred in the godown of Thiru. Ragu on 

19.10.2010. From the following particulars 

ascertain the loss of stock and prepare a claim for 

insurance. 

 Rs. 

Stock (1.4.09) 40,800 

Stock (31.3.2010) 36,000 

Sales from (1.4.09 to 31.3.10) 2,16,000 

Purchases from (1.4.09 to 31.3.10) 1,46,400 

Purchases from (1.4.10 to 19.10.2010) 1,76,400 

Sales from (1.4.10 to 19.10.2010) 1,80,000 

 The stock salvaged from five was Rs. 21,600 the 

amount of the policy was Rs. 75,600. There was an 

average clause in the policy. 

 v¸. µSÂß Qh[QÀ 19.10.2010À w Â£zx 
HØ£mhx. RÌPsh ÂÁµ[PÎ¼¸¢x \µUS CÇ¨ø£ 
PnUQmk, Põ¨¥k ÷Põ›UøPø¯ u¯õ›UPÄ®. 

 ¹. 

\µUS (1.4.09) 40,800 

\µUS  (31.3.2010) 36,000 

ÂØ£øÚ 1.4.09 •uÀ 31.3.10 Áøµ  2,16,000 

öPõÒ•uÀ 1.4.09 •uÀ 31.3.10  Áøµ  1,46,400 

öPõÒ•uÀ (1.4.10 •uÀ 19.10.2010 Áøµ) 1,76,400 

ÂØ£øÚ (1.4.10 •uÀ 19.10.2010 Áøµ) 1,80,000 
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 w Â£zv¼¸¢x Põ¨£õØÔ¯ \µUQß ©v¨¦ ¹. 21,600. 
Põ¨¥k ö\´¯¨£mh öuõøP ¹. 75,600. Põ¨¥k 
vmhzvÀ \µõ\› AÍÃk EÒÍx. 

9. Thiru Vasu is maintaining his accounts under 

single-entry system. Prepare final accounts for the 

year ending 31.3.2010. You are given the following 

information. 

 01.04.09 31.3.10 

 Rs. Rs. 

Machinery  18,000 18,000 

Stock  8,000 7,000 

Debtors  2,000 3,000 

Creditors  5,400 4,000 

Cash  4,660 5,120 

 The following transactions took place during the 

year 2009-10. 

 Rs. 

Wages  6,000 

Sundry expenses  2,500 

Printing  1,120 

Rent  2,500 

Lighting  780 

Cash purchases  64,340 

Carriage  1,680 

Purchase returns  1,000 

Cash received from customers  82,500 

Vasu’s drawings  3,900 
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 v¸ Áõ_ uÚx Â¯õ£õµU PnUSPøÍ JØøÓ¨ £vÄ 
•øÓ°À £µõ©›UQßÓõº. 31.3.10À •iÁøh²® 
BsiØPõÚ CÖv PnUSPøÍ u¯õ›UPÄ®. 
u[PÐUS RÌPsh uPÁÀPÒ uµ¨£mkÒÍÚ. 

 01.04.09 31.3.10 

 ¹. ¹. 

C¯¢vµ®  18,000 18,000 

\µUS  8,000 7,000 

PhÚõÎPÒ  2,000 3,000 

Phß D¢÷uõº  5,400 4,000 

öµõUP®  4,660 5,120 

 2009–10 BsiÀ RÌPsh |hÁiUøPPÒ 
|øhö£ØÓÚ. 

 ¹. 

Áõ_  6,000 

£Ø£»a ö\»ÄPÒ 2,500 

Aa_  1,120 

ÁõhøP  2,500 

öÁÎa\®  780 

öµõUP öPõÒ•uÀ  64,340 

EÒyUS T¼  1,680 

öÁÎz v¸¨£®  1,000 

PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP®  82,500 

Áõ_ & Gk¨¦  3,900 
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10. On 01.10.2006 ‘A’ Ltd purchased an old machine 

for Rs. 2,00,000 and spent Rs. 30,000 for  

re-conditioning and installing. On 01.04.07 this 

company purchased a new machine for  

Rs. 1,20,000. On 30.9.2008, the machine 

purchased on 01.04.07 was sold for Rs. 80,000 and 

on 01.10.2008 a new machine was purchased for  

Rs. 1,50,000. 

 The company writes off depreciation on original 

cost method at 10% p.a. Show the machinery 

account for 3 years ending on 31.3.2009. 

 01.10.2006–À ‘A’ {Ö©® J¸ £øÇ¯ C¯¢vµzøu  

¹. 2,00,000US Áõ[Q¯x. ¹. 30,000 ö\»Ä ö\´x 
¦x¨¤zux. ÷©¾® 01.04.07–À J¸ ¦v¯ 
C¯¢vµzøu ¹. 1,20,000&US Áõ[Q¯x.  
30.09.2008–À  01.04.07À Áõ[Q¯ ¦v¯ C¯¢vµzøu 
¹. 80,000US ÂØ£øÚa ö\´ux. 01.10.08–À  
¹. 1,50,000US «sk® J¸ ¦v¯ C¯¢vµzøu 
Áõ[Q¯x. 

 C¢u {Ö©® 10% ÷u´©õÚzøu AhUP Âø»°À 
PnUQmk Á¸QÓx. 31.3.2010–À •iÁøh²®  
3 BskUPÐUPõÚ C¯¢vµ PnUQøÚ u¯õ›UPÄ®.  

11. P and Q were partners in a Joint-venture, sharing 

profits and losses equally. 

 P supplied goods to the value of Rs. 2,500 and 

incurred expenses amounting to Rs. 200. 



wk 4 
 

 UG–319 11

 Q supplied goods to the value of Rs. 2,000 and his 

expenses amounted to Rs. 200 

 Q sold all the goods on behalf of the joint-venture 

for Rs. 6,000. Q was entitled to a commission of 5% 

on sales. Q settled his account by bank demand-

draft. 

 Show ledger accounts in the books of P and Q. 

 CønÂøÚ°À P²® ©ØÖ® QÄ® C»õ£ 
|mh[PøÍ \©©õP ¤›zx öPõÒÐ® TmhõÎPÒ. 

 CønÂøÚUPõP P ¹. 2,500 ©v¨¦ÒÍ \µUQøÚ 
u¸QßÓõº. AÁº ö\´u ö\»Ä ¹. 200. 

 A÷u÷£õÀ QÄ® CønÂøÚUPõP ¹. 2,000 
©v¨¦ÒÍ \µUQøÚ u¸QßÓõº. AÁµx ö\»Ä  
¹. 200. 

 ö©õzu \µUøP²® Q ¹. 6,000&US ÂØ£øÚ 
ö\´QßÓõº. AÁ¸US ÂØ£øÚ°À 5% uµSUS 
E›ø©²sk.  

 Á[Q £nÂøh ‰»® AÁº uß PnUøP 
\›ö\´QßÓõº. 

 ÷uøÁ¯õÚ ÷£÷µk PnUSPøÍ P  ©ØÖ® Q HmiÀ 
u¯õ›UPÄ®. 

12. Write short notes on : 

 (a) Average due date 

 (b) Loss of profit policy 

 (c) Non-profit organisation. 
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 ]Ö SÔ¨¦ ÁøµP : 

 (A) \µõ\› uÁøn |õÒ  

 (B) C»õ£ CÇ¨¦ Põ¨¥k vmh®  

 (C) C»õ£ ÷|õUP©ØÓ {ÖÁÚ[PÒ. 

  

 

——————— 


